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Solve each proportion.
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Solve each proportion.

) 2L 22 p X _16
251 X 3.6 82
LIS )53 %
41 9.69 45 39
5)—8—i G)i_i
62 3.1v b 52
) 6.7 3.1 8 6.7 2.5
6.4X 8.5 ©5.303
34232 95 _ X
53 78 74 4.04
19 6.7 25 47
11) —~=— 12) ===~
X 1 1.6
3.4 X 6.5 m
13) =—— 14) == =—
73 6.6 48 3
48 6.8 4483
17y 34 _61 , P _ 68
kK 64 45 459
19) 673 44 20)L_7455
39 v 52 62
y 84X 22y 66_m
595 5.92 53 4.1
23) E_ 6.1 24) 7'057_L
v 457 75 85

Period



Algebra 1
Assignment

Solve each proportion.

Name

ID: 7

Date

Period



ID: 8
Algebra 1 Name

Assignment Date Period

Solve each proportion.

p &2 20 p N _74
X 6.6 8.1 26
8 8.1 5.4 1.748
3) —=— 4) L=
p 95 b 2
5 2218 _34 )2 _48
9.1 X 548 8.4
)23 _n g 12 5
33 63 37
g X _47 oy V49
93 1.2 54 26
n o278 79 24
509 6.1 770 73
9.2 74 29
13) P2 14) ——==2
54 6.7 k 55
534 X 75 38
15) —— ==+ 16) — ="
29 78 12 a
17) £_2'327 18) L_ﬁ
99 X 8.7 6.5
19) 6.6 _ x zo)ﬂ_i
9.783 1.9 27 45
2231 74 2 52
21) ——=— 22) —="*=
2.3 a 8.3 X
6.7 2.1 6.4
23) —=— 24) os _ P

76 k 9.7 3.6



Algebra 1
Assignment

Solve each proportion.
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Solve each proportion.
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Solve each proportion.
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